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2N

X ZH
S =

el

& Xtel Z J
CNEEM et Bt

NEBAHS =HEZ ML A

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZHIEx= A 880,000
— 0t 28 XM LPGIHA B
11,000,000 *809t 7 880,000
< 150,000
[ia 730,000
LPGEIl ALEJt7 AIEME ALY 20,000 0 20,000
= 10,000
e 10,000
403 MtXISHHE X201 E 20,000 0 20,000
= 10,000
e 10,000
02 SO 2SOCHeH 2R 2 E A I 20,000 0 20,000
O=HIEXZ ALY 20,000
—LPGEJ| AtSIt3 AIEH
200,000& 1002t +* 20,000
= 10,000
s 10,000
JtA UNSIUEHEX E2SAHY 5,600 0 5,600
403 Ut S EX201H 5,600 0 5,600
02 SO 2SO HSHAHE X 2| &AL H 5,600 0 5,600
Ot MHsxHEX X 56,0002 1004 5,600
S2H X 2el 1,725,410 315,725 1,409,685
= 979,814
< 26,000
s 719,596
Ol X 2o 2tel 14,160 34,160 A 20,000
Ol XI 2ok AIZOH & 14,160 14,160 0
201 Let4d] 9,520 9,520 0
01 At 22l 9,520 9,520 0
OsEES8 72 7,600
—SE2dHX A 2503 6,000 *23] 3,000
— =9 M 80,000 200K 1,600
—HUXESY SEES M 6,000 *5004 3,000
SH(HEHXER) 8,000& »4H +60 1,920
202 O4dl 4,640 4,640 0
01 S LHOYI 4,640 4,640 0
OWUEXI Al FRF=X 20,0003 x4 x58 4,640
ATHMH UK E2 At 1,711,250 281,565 1,429,685
= 979,814
= 26,000
e 705,436
ATHA0 X S8 |X2el 23,100 19,800 3,300
201 L2l 23,100 19,800 3,300




2N
X ZH -
L= B

el

& Xtel Z J
SEX WX 22
ATHEMUHX 2SS AL

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 23,100 19,800 3,300
OMMMUU X &8 X 2el
110,000 & *3kW*70H £ 23,100
FERIZAI (OILIEH S Z SSAY) 52,000 52,000 0
< 26,000
s 26,000
402 QIZ2HXHE01 M 52,000 52,000 0
< 26,000
s 26,000
02 QI EALEZ (OIS ) 52,000 52,000 0
OZHIEx= AL 52,000
— DILIEHZZ & X 650,000 *80H 2 52,000
= 26,000
s 26,000
XNEX2(0tEAHOIESE) 13,564 0 13,564
= 6,782
s 6,782
401 AIEHI L 20HEI 13,564 0 13,564
= 6,782
s 6,782
01 A& Hl 13,564 0 13,564
OZ3HIEx= A 13,564
—DIEAHOIESZE EHLZHHl dXIAY (8kW)
1,633,000& »8kW 13,064
= 6,532
e 6,532
— AKX S SUBHEAAH
500,000 » 14! 500
= 250
[ 250
N2 (BSu=0t8) 8,665 0 8,665
= 4,332
i 4,333
401 Al HIZ 201 Y] 8,665 0 8,665
= 4,332
s 4,333
01 A& HI 8,665 0 8,665
OZHIEx= AL 8,665
— S0 =0tS RS2 AUl SR ALY (5kW)
1,633,000& *5kw 8,165
= 4,082
[ia 4,083
—AMTHHNUHXN S Z2LIEHEAIAE
500,000& » 14 500
=2 250
[ia 250




M LXelZ ot
3 288 U 2el

el MUK ES At (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
SN AMH 1,613,921 0 1,613,921
= 968,700
= 645,221
402 BI2HX=01 M 1,613,921 0 1,613,921
= 968,700
= 645,221
03 212t &AL S HI 1,613,921 0 1,613,921
OZHIEx= A 1,613,921
— AN HR S=SE XS A
1,613,921,0002 *1 4! 1,613,921
= 968,700
[Ea 645,221
He&s 1,197,240 593,348 603,892
WEHHX = 1,197,240 593,348 603,892
HEHH X = 1,197,240 593,348 603,892
701 JIEtSI HSHES 1,197,240 593,348 603,892
01 JIEtel HE &= 1,197,240 593, 348 603,892
OsTHXZL SN HE2
486,420,000 486,420
O3gMHY EL3H H&ES 682,520,000 682,520
OAUHUHXILTHAEH UKL EAIY MES
28,300,000& 28,300
HY2IZH (LA HL) 80,990 80,990 0
JlE &3l 80,990 80,990 0
JlE&l 80,990 80,990 0
201 ¢et24l 39,990 39,990 0
01 AFR 22l 39,990 39,990 0
ORANEAH 1,831,000& =18 32,958
O= &l 3,600
— EZ20HAHl 8,000 x18H »252! 3,600
OS A& Xt 3,432
—ZHEAMI] 286,000 = 1CH 123 3,432
202 044l 32,400 32,400 0
01 SLHOYI 32,400 32,400 0
O2 Lol 100,000 18 x12& 21,600
O&2 o dl 75,0003 »18H 8L 10,800
203 22 EF Y| 8,600 8,600 0
01 122 =4 5,000 5,000 0
OJ22ZgRFIHI(ZEF) 5,000,000& 5,000
04 EASIYRFLH| 3,600 3,600 0
ORN2EYRF=AHI 300,000& =128 3,600




